A1 — Multiple Choices — Deb Mohanty 10 + 10 + 10 points
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Answer Key: Enter the letters corresponding to correct solutions.
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A2 — Multiple Choices — Deb Mohanty
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Answer Key: Enter the letters corresponding to correct solutions.



B1- As Easy As ABC — Serkan Yurekli

Place a letter from the
given set in some blank
cells.

Letters do not repeat in
rows or columns.

Some cells will remain
empty in each row and
column.

The letters outside the
grid show the first seen
letter from that direction.

Answer Key: Enter the
alphabets in the marked

blank cells.

directions. Enter X for )

B2 — Strangely As ABC — Nikola Zivanovic

Rules same as “B1 — As
Easy As ABC”.

Some cells extend into
several rows / columns.
Each letter appears
exactly once in each row
or column, regardless of
the size of the cells.

Answer Key: Enter the
alphabets in the marked
directions. Enter X for
blank cells.
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C1, C2 — Battleships — Nikola Zivanovic 20 + 50 points

Locate the given fleet in
the grid, so that each

. E—d —d E—d E—d
segment of a ship = === 3
occupies a single cell.
. <~ —d <~
Ships do not touch each = = = 1
other, not even
. —d —d —d _
diagonally. = = || 2
Some ship segments, or . . . .
. . ~ E—d
sea cells without any ship = = 1
segments, are given in . ‘ ‘ ‘ 3

Elhr?egrrligr.nbers on the right . ‘ . . — 11—

and bottom edges of the ===

grid reveal the number of ‘ ‘ . ‘ —

ship segments in that row = 2
or column — ’
Answer Key: For each

row from top to bottom, === 3
enter the column position

of left most ship segment. 1 1 1 1 2 1 3
Enter X if no ships.




D1, D2 — Regional Star Battle — Deb Mohanty 25 + 45 points

Place 2 stars in each row
and each column.

Stars do not touch each
other, not even
diagonally.

Each outlined region
contains same number of
stars.

Answer Key: For each row
from top to bottom, enter
the column position of left
most star.




E1 — Sudoku — Deb Mohanty

Place a digit from 1 to N
in each cell of the N by N
grid.

Digits do not repeat in
rows or columns or
outlined regions.

Answer key: Enter the
digits in the marked
directions.

E2 — Skyscraper Sudoku — Deb Mohanty

Apply rules of “E1 -
Sudoku”.

Digits inside the grid
represent height  of
skyscraper in that cell.
Digits outside the grid
represent total number of
skyscrapers seen (not
blocked by a taller
skyscraper) from the
corresponding direction.

Answer key: Enter the
digits in the marked
directions, excluding
outside clues.

30 points

30 points



F1 — Black And White Loop — Horvath Zoltan

Draw a loop which

passes all cells exactly
once.

Between two circles with
same colour the loop
cannot turn.

Between 2 circles with
different colours, the loop
must turn exactly once.

Answer key: Starting with
A and traveling clockwise
around the loop, enter the
order the letters are
visited.

F2 — Black White & Grey Loop — Horvath Zoltan

Apply rules of “F1 — Black
& White Loop”, except
that some circles are
grey.

Each grey circle can act
as either a white circle or
a black circle or both.
Answer key: Starting with
A and traveling clockwise
around the loop, enter the
order the letters are
visited.
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35 points
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G1 — Kakuro — Serkan Yurekli

Place a digit from 1 to 9 in
each white cell

Sum of each
horizontal/vertical group
of cells equals the
number given on its
left/top.

Digits must not repeat
within such group.

Ignore the circles while
solving. They are used for
answer key purposes
only.

Answer key: Some
columns have one circled
cell. Enter the digits in
circled cells from left to
right.

G2 — Pentomino Kakuro — Serkan Yurekli

Place the given pieces
into the white cells to form
a Kakuro puzzle.

The pieces may be
rotated, but not mirrored.
The pieces cannot touch
each other, not even
diagonally.

Answer key: Some
columns have one circled
cell. Enter the digits in
circled cells from left to
right. Same as G1 -
Kakuro. Enter X if any of
the given piece is placed
on a cell.
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H1 — Missing Words — Deb Mohanty

Locate all except 4 (four)
given words in the grid.
The words appear in a
straight line horizontally,
vertically, or diagonally.

Ignore the labels while
solving. They are used for

answer key.

Answer key: Enter the
labels of the missing

words.

H2 — Missing Letters — Serkan Yurekli

Locate all the
given words in
the grid.

The words
appear in a
straight line
horizontally,
vertically, or
diagonally.

It is part of
solving to fill in
the missing
letters in the
grid.

Answer key: For
each row from
top to bottom,
write the
missing letters.
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30 points



I1 — Tapa — Horvath Zoltan 25 points

Paint some empty cells V
black to create a
continuous wall.

Number/s in a cell 2 3
indicates the length of 6
black blocks on its
neighbouring cells. 11
If a cell has more than 2
one number, there is at 1 )

least one white cell :
between the black blocks. :
No 2X2 square contains b ? 3
only painted cells. !

Question marks (?) are 2 ?
replaced by non-zero 4 ?
digits. o)

Answer Key: Enter the
lengths of separate 1.1
painted cell blocks in the 3
marked directions. 1

12 — Tapa Difference — Horvath Zoltan 45 points

Replace each clue with v
two non-zero digits whose
difference is equal to the
clue.

Apply “I1 —Tapa” rules.

Answer Key: Enter the
lengths of separate
painted cell blocks in the
marked directions.




J1 — Corridors — Serkan Yurekli

Divide the grid along the
grid lines into regions
consisting of five adjacent
cells.

Each region contains
exactly one white and one
black circle.

No 2X2 area belongs to a
single region.

Answer Key: Enter the
lengths of separate
regions in the marked
directions.

J2 — Happy Dots — Nikola Zivanovic

Rules are same as “J1 —
Corridors”, except that the
white circles are missing.
Place one white circle
diagonally next to each
black circle.

Answer Key: Enter the
lengths of separate
regions in the marked
directions.
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K1 — Tents — Horvath Zoltan

Place a tent horizontally
or vertically next to each
tree.

Tents connected to
different trees do not
touch each other, not
even diagonally.

Numbers outside the grid
indicate the number of
tents in that row or
column.

Answer Key: For each
row from top to bottom,
enter the number tents
connected horizontally to
the trees.

K2 — Family Tents — Horvath Zoltan

Same rules as “K1 -
Tents” except that a tree
can have more than one
tent connected to it.

Tents connected to same
tree can touch each other
diagonally.

Answer Key: For each
row from top to bottom,
enter the number tents
connected horizontally to
the trees.
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55 points

60 points



L1 - Nurikabe — Horvath Zoltan

Shade some blank cells
so that the grid is divided
into white regions.

Each white region
contains exactly one
numbered cell and has
same area as the
number.

Two white regions may
only touch each other
diagonally.

All shaded cells are
connected to each other
horizontally or vertically.
Shaded cells do not form
2X2 squares.

Answer Key: Enter the
lengths of separate
painted cell blocks in the
marked directions.

L2 — Snake Eggs — Horvath Zoltan

Locate a snake, passing
through  non-numbered
cells, whose head and tail
are given.

The snake cannot touch
itself orthogonally, but
can touch itself
diagonally.

The  remaining  cells
should form 9 separate
regions with sizes 1~9
each.

Numbers in the grid
indicate size of the

region.

Answer Key: Enter the
lengths of separate blocks
belonging to the snake in
the marked directions.

20 points

65 points



M1 - Slitherlink — Serkan Yurekli

Draw a single
continuous loop
along the dotted
line segments.
The loop cannot
intersect or
collide with
itself.

Clues given
inside the cell
indicate the
count of line
segments
surrounding the
cell those are
part of the loop.
Ignore the
letters while
solving.  They
are used for
answer key
purpose.

Answer Key:
Starting from A,
for each letter in
alphabetical
order, enter the
number of line
segments
around it.

M2 — Crosslinks — Serkan Yurekli

Apply same rules as “M1
— Slitherlink” except that
the loop may intersect
itself at a point.

At every intersection, the
segments travel straight
through the dot.

Answer Key: Starting
from A, for each letter in
alphabetical order, enter
the number of line
segments around it.

60 points

35 points



